(2) = & A

% 4y CANE A GRS ]
AN & | OBUESME | AN & M B | OB TS
3 HERCH HERCH HERCR HERH
B < 3,647 | 100.0 74| 100.0| 3,647| 100.0 74| 100.0
PN g 8 0.2 0 0.0 2 0.1 1 1.4
| 1 4 0.1 0 0.0 2 0.1 0 0.0
i H i 0.0 0.0 0.0 0.0
& W i 1,602 43.9 26 35.1 1,296 35.5 10 13.5
= 1% 1,103 30.2 18 24.3 999 27.4 3 4.1
T = B = 0.0 0.0 0.0 0.0
K Al 92 2.5 2 2.7 30 0.8 5 6.8
H H i) 60 1.6 2 2.7 27 0.7 0 0.0
| % a8 7 62 1.7 2 2.7 33 0.9 2 2.7
- W i 146 4.0 1 1.4 110 3.0 1 1.4
S 286 7.8 6 8.1 157 4.3 0 0.0
we | R BE AR N 1 0.0 1 1.4 1 0.0 0 0.0
| K il 1 0.0 0 0.0 1 0.0 0 0.0
E ) ) 0.0 0.0 0.0 0.0
e N 21 0.6 3 4.1 46 1.3 2 2.7
) LA 12 0.3 1 1.4 33 0.9 1 1.4
Wl N 16 0.4 1 1.4 41 1.1 3 4.1
¥ Ji F 59 1.6 2 2.7 104 2.9 3 4.1
3| H 0.0 0.0 2 0.1 2 2.7
| A Hx H 97 2.7 4 5.4 333 9.1 2 2.7
% = D fily 0.0 0.0 0.0 0.0
#H 17 * 14 0.4 5 6.8 317 8.7 18 24.3
B (R A& Te) 63 1.7 0 0.0 113 3.1 21 28.4




